/DVIRB

3UDFRZQIN 5RINiDG  PJU - PLHFIN $QQD 7\J

7N 7N 7N
“CI\WDQI GZ % PJ “CI\WDQJ GZ % PJ SCIWDQJ GZ % PJU.PIHFIN$QD =
= U - PLHFIN $QQD - U _PLHFN $QQD = .20387(52:%
“E 6-2/ $1 6-2/ $1 IRIRJLD JHUPDEVND ,, URN
= 16 -12= -6 16 -12= =6
o N N
T ~CT\N DQILHIVN. “UXJLIG]\N REF\ ICT\WN
=1 VSIDZQRGFL DQJHWNL GZ PJV
% 1LQIHIRZDQH PJU - PIHFIN $QQD -
- PIHFIN $QQD - -20387(52:%
-20387(52:% Y3/ =
)*3 / z ‘
~ 7N 7N
I CIWDQJ UZ % PJ “UXJLIG]\N REF\ ICT\WN
&z U - PHFIN $QQD = DOJHWN. GZ PJV
= 6-2/" $1* _PIHFIN $QQD =
N Yy*3/ =
),=-27(5%$3,% ,, IRN :
oD
)
Lo
[}
=
M
[a g
©




